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SARDAR PATEL UNIVERSITY 

BCom (I Semester) Examination 

Tuesday, 12 June 2012 

3 - 5 pm 
 

UB01CCOM05 - Business Mathematics I                    

Ly$g NyZ: 60  
_p¢^: 1. S>dZu bpSy>_p„ Ap„L$ NyZ v$ip®h¡ R>¡. 
 2. rh_„su L$fhp\u gp¡N$ V¡$bg dmu iL$i¡. 
â.1   
(A) Dv$plfZ Ap`u kdÅhp¡. (4) 

 (1) D`NZ  (2) ep¡NNZ  
(b) 

(1) kprbs L$fp¡: 

8912356

105202152

194325208

 = 0  

(3) 
 
 

 

(2) Å¡ 

545

763

32 k

= 0  sp¡  k ip¡̂ p¡ 

(3) 

(L$) v$'dp¡N®__p r_edp¡ gMp¡ A_¡ QL$pkp¡: (5) 
 U= {1,2,3,4,5,6,7,8,9,10}, A = {1,3,5,7,9,}, B={2,4,6,8,10}  
 A\hp  

â.1   
(A$) qÜlpf r_òpeL$_u ìep¿ep Ap`p¡ A_¡ _uQ¡_p kduL$fZp¡ ¾¡$df_u fus¡ DL¡$gp¡. (5) 

  7x + 4y  = 13 
 5x - 2y  = 19 

 

(b$) (1) Å¡  A = {-3,-2,2,0,}  A_¡    B={3, 2,-2,0} sp¡ 
  (1)  AB (2)  AB (3) A-B ip¡^p¡ 

(3) 

 (2) Å¡ A = {a,b,c,}  sp¡ P(A) ip¡^p¡  (3) 
(L$$) Å¡  A = {1,3,5,7,9}, B={2,4,6,8,10} A_¡ C={3,4,7,8,11,12} sp¡ 

 (1)  A (BC)=  (AB)   (AC) QL$pkp¡. 
 (2)  A (B-C) $ip¡^p¡. 

(4) 

   
â.2   
(A) 

Å¡ A = 












36

25
 A_¡  B = 













13

34
 sp¡ 

(1)  (A+B)
 T

 = A
T
 + B

T
 QL$pkp¡. 

(2)  A  A_¡ B  $ip¡^p¡. 

(5) 
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(b) 

(1) kprbs L$fp¡ L¡$ Å¡  A = 
3

1
 





















122

212

221

 g„b î¡rZL$ R>¡. 

(4) 
 
 

 $(2) kdÅhp¡: ârs î¡rZL$  (2) 
(L$) _uQ¡_p kduL$fZp¡ ìeõs î¡rZL$\u DL¡$gp¡. 

2x + y = 4, 
5x + 3y = 9. 

(4) 

 A\hp  
â.2   
(A) 

Å¡ A = 








25

43
, sp¡  A

2
-5A-14I $ip¡^p¡. 

(4) 
 
 

 

(b) 

Å¡ A =  
















 127

1067

529

 A_¡  B = 
















 041

011

021

 

(5) 

 sp¡ A¡hp¡ î¡rZL$ X ip¡^p¡ L¡$ S>¡\u  X + (A-B) = 
2

1
(X+A) \pe.  

(L$) 

1. Å¡ A =  

















142

213

231

 sp¡  A-1 ip¡^p¡. 

(4) 

 f. kdÅhp¡: kdp_ î¡rZL$ (2) 

   

â.3   

(A) qL„$ds ip¡^p¡.  

 1. 
n

lim
 ( 12  nn -  12 n ) (4) 

   

 2. 
2

lim

x
 












 23

1

2

1
2 xxx

    (3) 

   

 
3. 

0

lim

x
 

x

ba xx 
 

(3) 

   

 
4. 

2

lim

x
 

4

6
2

3





x

xx
 

(5) 

 

 A\hp  
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â.3 
(A) qL„$ds ip¡^p¡. (12) 

 
1. 

n

lim







 

n

n 5 n
   

 

   

 
2. 

3

lim

x
 

3

52





x

x
  

 

   

 
3. 

1

lim

x
 

1

1
15

28





x

x
 

 

   

 
4. 

5

lim

x
 

25

125
2

3





x

x
 

 

 

(b) gn_p r_edp¡ gMp¡. (3) 

   

â.4   

(A) (1) ìep¿ep Ap`p¡: kpvy$ ìepS> A_¡ `fsr_r^ (2) 

 (2) L¡$V$gu fL$d 8%_p Q¾$h©qÙ ìepS>¡ dyL$hu Å¡BA¡ L¡$ S>¡\u 4 hj® `R>u ê$p. 5000 dm¡.     
  Å¡ Q¾$h©qÙ ìepS> 1. v$f hj£ ^p¡fZ¡ NZhpdp„ Aph¡  
      2. rÓdprkL$ ^p¡fZ¡ NZhpdp„ Aph¡ ?  

(4) 

(b) Å_L$uA¡ 10 hj®_u dyv$s_y„ fuL$f]N Mpsy Mp¡gpìey„ R>¡. s¡dp„ s¡ v$f hj®_u iê$Apsdp„  
ê$p. 2500 S>dp L$fph¡ R>¡. Å¡ ìepS>_p¡ v$f 11% lp¡e, sp¡ 10 hj®_u dyv$s_p A„s¡ 
s¡_p Mpspdp„ L¡$V$gu fL$d li¡ ? 

(4) 

(L$) A¡L$ ìeqL$s 32000 ê$r`ep 16%_p kpv$p ìepS>¡ 4 hj® dpV¡$ fp¡L¡$ R>¡, S>epf¡ buÅ¡ 
ìeqL$s A¡V$gu S> fL$d A_¡ A¡V$gu S> dyv$s dpV¡$ 14%_p Q¾$h©qÙ ìepS>¡ fp¡L¡$ R>¡.        
sp¡ L$p¡_¡ h^pf¡ ìepS> dmi¡ ? L¡$V$gy„ ? 

(5) 

 A\hp  

â.4   

(A) 1. kdÅhp¡ : A¡ÞeyBV$u (2) 

 f. A¡L$ L„$`_u_y„ lpg_y„ DÐ`pv$_ 40000 V$_ R>¡. S>¡ 8.5%_p v$f¡ h^¡ s¡hu 
 ^pfZp R>¡. sp¡ 9 hj®_p A„s¡ L„$`_u_y„ DÐ`pv$_ ip¡^p¡. 

(3) 

(b) A¡L$ il¡f_u lpg_u hõsu 49949 R>¡. 7 hj® ANpD s¡ il¡f_u hõsu 35498 
lsu. Ap il¡f_p¡ hõsu h^pfp_p¡ hprj®L$ v$f ip¡^p¡. 

(5) 

(L$) Ly„$v$_ `V¡$g¡ ê$p. 500000_y„ A¡L$ e„Ó Mfuv$ey„ R>¡. s¡ e„Ó_y„ A„v$pÆs Apeyóe 12 hj® 
R>¡. Ðepfbpv$ e„Ó_u qL„$ds 60% h^pf¡ li¡. _hy„ e„Ó Mfuv$hp_p l¡sy\u v$f hj£        
31 qX$k¡çbf_p fp¡S> AdyL$ fL$d rk„qL„$N a„X$ Mps¡ gB S>hp_y„ A_¡ s¡_y„ 14%_p v$f¡ 
fp¡L$pZ L$fhp_y„ _½$u L$fhpdp„ Apìey„.  v$f hj£ rk„„„qL„$N a„X$ Mps¡ gB S>hp_u fL$d 
NZp¡. 

(5) 



 4 

 
# # # 


